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This limited ---- provides a collection of

the famous painter’s work and information
about her personal life, including the letters
she wrote to her brother.

A) gender B) record
C) screen D) edition
E) salary

This year’s seminars will be about the
universal ---- of literature that can be seen in
the works of authors from various countries
and periods.

A) benefits B) needles
C) enemies D) hardships
E) themes

He is well aware of the ---- of smoking, and
he does everything to quit it, but all his
efforts so far have been in vain.

A) hazards B) measures
C) seconds D) tenants
E) whistles

Quantum theory, which is considered very
complicated to understand, mainly deals
with the ---- of subatomic particles.

A) machinery B) collapse
C) behaviour D) vegetation
E) selection

Although scientists have found numerous
plants so far, there are still so many in
various ---- waiting to be discovered.

A) matters B) locations
C) illusions D) charities
E) incidences

10.

Eating ----, which can be triggered by social
media, have become a major psychological
problem, especially among teenagers.

A) whispers
C) screams

B) decades
D) disorders
E) candidates

After showing his ---- of the workers on
strike, the famous singer started to get
more and more audience at his concerts.

A) advocacy B) admission
C) occasion D) individual
E) ignorance

The spokesperson of the World Health
Organization indicated that they expect to
face the ---- of the pandemic next month.

A) task
C) wage

B) chief
D) gain
E) peak

Cancer treatment can be a painful ---- both
for the patient and the people around

them because of the sudden and extreme
changes in the mood due to the pills taken.

A) genius B)
C) battle D)
E) process

empire
scholar

Culinary tourism is travelling to try different
tastes either in close neighbourhoods or
various parts of the world with the hope of
experiencing different ----.

A) deserts
C) cuisines

B) delays
D) shapes
E) debates

MODERN ENGLISH

17

QUESTION BANK - VOCABULARY



LEVEL

AEIR

ADJECTIVES

TEST
10

Giving negative or positive reinforcement
can result in ---- changes in the learning
outcome, but it is hard to draw certain
conclusions because people may react
differently.

A) impersonal B) unbearable
C) observable D) inhospitable
E) dependable

With the advancements in medicine and
technology, we can make ---- organs for
people who somehow lost them.

A) chaotic
C) sensitive
E) artificial

B) durable
D) tough

Despite the complex nature of the topic, the
book is very ---- due to its plain language
and the numerous example questions and
their solutions.

A) explanatory B) unconscious
C) elementary D) secondary
E) reasonable

Studies show that break times are helpful
to make students concentrated as they are
more ---- after the breaks.

A) attentive B) definite
C) benéeficial D) favourite
E) incredible

The latest investigation report state that
the school allowances for students with
disabilities are not ----.

A) luxurious
C) formative
E) obedient

B) adequate
D) sociable

10.

With motivation and determination, she
could overcome her disease, for which her
doctors said ----.

A) influential B)
C) immediate

repetitive
D) priceless
E) incurable

He never wanted to be a(n) ---- person

like you and me and always tried to have
extreme hobbies, such as scuba diving, to
make himself different.

A) spacious
C) intimate

B) outgoing
D) ordinary
E) endless

Mugla is one of the best vacation points in
Turkey, with its ---- sea and gorgeous bays
that provide a peaceful resting place for
you.

A) humid B)
C) fatal D)
E) juicy

unique
rational

The minister of education announced that
they completed their investigation about the
effectiveness of schools, and the results
would be ---- to the public in a few days.

moderate
conclusive

A) infectious B)
C) available D)
E) notorious

---- smoke covered the air after the
explosion in one of the factories near
the village caused a fire that couldn’t be
extinguished for a long time.

Sour
Keen

A) Dense B)
C) Fine D)
E) Mean
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The school is in a ---- upper-class area even
though none of the parents are extremely
rich, and they spare a lot of money for the
sake of their children’s education.

A) courageously B) simultaneously
C) predominantly D) monotonously
E) scholastically

Her exam results were not as bad as she
---- thought, which made her furious as she
stressed herself out for a long time in vain.

A) disastrously B) prematurely
C) magnificently D) previously
E) involuntarily

Scientists have been indicating that they
have been ---- concerned about the rising
temperatures for years.

A) roughly B)
C) equally

cruelly
D) orally
E) deeply

The teacher’s union leader says they ----
condemn the teacher who hit his student
as she could not answer the question he
asked.

A) memorably B) fiercely
C) gradually D) relatively
E) cowardly

Horses are ---- considered one of the most
intelligent animals tamed; for instance, they
can communicate their needs to humans, as
shown by a study.

A) invariably B) disastrously
C) attentively D) severely
E) gradually

10.

They have ---- different personalities,

but they can still work their relationship
out, which they attribute to their love and
respect for each other.

A) fruitfully B)
C) cruelly D)
E) eventually

utterly
strictly

He was ---- aware of what was going on
because the medication he took influenced
his comprehension skills and made him
dizzy.

A) anxiously B)
C) vaguely D)
E) effectively

intentionally
manually

Although it is the smallest bird on the Earth
with ---- 2.3 grams, the bee hummingbird
can fly very fast as it can beat its wings up
to 200 times per second.

A) longingly B) formerly
C) roughly D) primarily
E) obviously

The Olympics winner archer mentioned
what he had done to win the medal,
including his basketball and painting
lessons ---- done to improve his reflexes
and hand-eye coordination.

A)
C)

regularly B) indirectly
relatively D) gradually
E) usefully

Orcinus orca, also ---- known as the killer
whale, is not a whale or a fish, but a kind of
dolphin, in other words, a mammal.

A) tremendously B) approximately
C) magnificently D) simultaneously
E) colloquially
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Climates are ---- based on temperature
patterns and seasonal precipitation, and
they are divided into five main climate
groups, which are tropical, dry, temperate,
continental, and polar.

A) indicated B) referred
C) classified D) hesitated
E) speculated

Archaeologists have been working in
Gobeklitepe, in other words, the oldest
known temple in the world, and ---- various
monuments and structures that shed light
on the history.

A) excavating B) utilizing
C) confirming D) occurring
E) suspecting

The community ---- on farming, which
means that the drought that has been
lasting more than two years will have
effects on hundreds of families.

A) idolizes B) releases
C) swears D) breeds
E) depends
Several new industries will ---- in the town

with the help of the investments made as an
election promise.

A) derive B)
C) infer D)
E) digest

arise
replace

As the main editor of the local newspaper
indicated, their main aim is to inform the
inhabitants by ---- the daily life.

A) reflecting B) situating
C) blaming D) surveying
E) consisting

10.

In healthy relationships, you shouldn’t be
---- as someone else because you should be
accepted as who you are.

A) delivering B) migrating
C) recovering D) pretending
E) exposing

His parents blamed themselves for her

depression because they couldn’t ---- she
was suffering from a psychological issue
that might turn out to be very dangerous.

A) utilize B)
C) resent D)
E) realize

score
locate

Necessary maintenance steps of the
buildings were ---- for years, which was the
biggest reason for hundreds of casualties
in the earthquake.

A) succeeded B)
C) vaccinated D)
E) associated

neglected
emancipated

According to the survey, more than half of
the respondents ---- their colleagues as the
most important indicator of their peace in
the workplace.

A) rebelled B)
C) ranked D)
E) exported

equalized
advanced

Queen Elizabeth Il has been ---- the United
Kingdom for more than 69 years, which is
the longest reign of the UK.

A) racing B)
C) adding D)
E) denying

lighting
ruling
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She could hardly catch the bus; in fact, it
departed as soon as she ---- it.

A) picked up B)
C) gotinto D)
E) tried on

looked on
ran over

Although she wanted it badly, she could not
---- the project in her mind as she was too
busy for it.

sort out
pass out

A) carry out B)
C) break out D)
E) find out

The committee ---- the documents very
carefully to see whether there was
something wrong or not.

A) took over B) switched off
C) worked out D) kept off
E) looked into

| think we wouldn’t have ---- our schedule
if there hadn’t been noisy and
hard-to-manage students in the classroom.

A) passed away B) fallen behind
C) pulled through D) switched off
E) gotthrough

Later, we ---- that he hadn’t been going to
school for a long time and spending his
time with his friends instead.

A) found out B) kept away
C) putforward D) brought up
E) checked out

10.

The difficulties she was having ---- her
strength and potential, and she realized her
power.

A) got along B) pulled through
C) worked out D) brought out
E) gotthrough

Nowadays, companies need to get support
from influencers to sell their products
because influencers make them ---- among
the young generation.

A) go off B) wake up
C) look into D) catch on
E) tell off

The customer representative said they
would ---- our problem with the product, but
they haven’t done anything yet.

A) put down
C) care for

B) take off
D) fall behind
E) sortout

His mind was full, so he couldn’t
concentrate on the newspaper he was
holding, and he just ---- it.

A) looked over B) took down
C) pulled out D) got over
E) fell apart

Unfortunately, his small grocery could
not resist the change, and it was ---- by a
supermarket.

A) brought out
C) kept away

B) taken over
D) broken up
E) figured out
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A plague of locusts has completely
destroyed all the ---- over thousands of
miles of land.

A) scenery B) medicine
C) refreshments D) vegetation
E) occupations

We looked through the travel brochures at
the tourist agency, trying to choose a(n)
---- for our summer holidays.

A) occasion B) shipwreck
C) destination D) harbour
E) community

The ---- paintings of Constable are quite
beautiful depictions of the English
countryside.

A) landscape
C) percentage
E)

B) coincidence
D) severity
incidence

She was really ambitious to improve her ----
by taking night courses for over two years.

A) pedestrians
C) sensations

B) qualifications
D) individuals
E) quantities

Some people were so poor that they could
not buy food or other ---- to maintain their
lives healthily.

A) pessimism
C) obsession
E) fairness

B) severity
D) necessity

10.

In 2014, a referendum took place in
Scotland and a(n) ---- voted to stay in
the United Kingdom, though the cities
of Glasgow and Dundee supported
independence.

A)
C)

celebrity
majority

B) peasant
D) selection
E) citizen

With the help of a new study, scientists
were able to connect specific symptoms of
schizophrenia to particular structural ---- of
the brain.

A)
C)

illusions B) fertilizers
impressions D) observatories
E) characteristics

The birth certificate is not proof of a
person’s ----, but only a record stating that
a birth occurred at the time, date, and place
stated on the certificate.

A) finance B) identity
C) occupation D) selection
E) deduction

My main ---- is that some people will have
to pay more than others and that will not be
fair at all.

A) measure B) section
C) edition D) session
E) objection

Adolf Hitler was the leader of the Nazi
Germany until its ---- in 1945, when he killed
himself, and the Nazi Party was destroyed
in the same year.

A) whistle
C) balance

B) collapse
D) secrecy
E) choice
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